764-2033

ACCESSOIRES / ACCESSORI / ACCESOIRES

ZUBEHOR / ACCESORIOS

SPARE / RICAMBI / PIECES
ERSATZTEILE / RECAMBIOS

f g

Cod. Cod. 1 Cod. Cod. 3 Cod. Cod. 6 Cod. Cod. A Cod. Cod.
9250101 FP 1/4 50 50801 CS14 (2 251201 TMVL 14 200701 SF1/4 20 9200301 SB3A 14
9450101 FR 42 50 9250802 CS 14 04 951201 TMVL12 00701 SF12 40 3400301 SBIR12
950101 FP1 50 950803 CSi/4 08 9651201 TMVL 9600301 SBIA1
9250102 FP 1/4 20 9250804 CS1/4 012
450102 FP 12 20 9450801 CS¥B1/204 |
9650102 FP1 20 9450802 CS3/81/2 08
9250103 FP1/4 4 450803 CS3A1/2 012 m
e
9450103 FP 12 4 9650801 CS 341" 04 s ] B
28 el
9650100 FP1 4 50802 CS3/41" 08 5 e
9650803 CS3/41" 012
Cod.  Cod. 7 Cod.  Cod , Cod.  Cod.
9250901 OTFRY/A 9200501 BC 1A 1 9200601 OF 1/4
:@ﬂ] 450901 OTFR 12 3400501 BC1/2 9400601 OF 172
)
i 900501 BC1 i 9500601 DF 1
T .
H —ta Cod Cod. 3
: — 250701 OTR1/4
) 9450701 OTR 112
Cod.  Cod. 2 %5001 ORI

9250301 TMVF 1/4 RMSA
9450301 TMVF 1/2 RMSA
9650301 TMVF1 RMSA

9651301 CVL 1

Cod.  Cod. 8 Cod.  Cod. Cod.  Cod.
9450105 FPD 12 9200201 SB2R1/4 9200401 PA1/4
Cod.  Cod. 5 ~ 9400201 SB2R1/2 9400401 PA 12
9251301 CVL1/4 9600201 SB2R1 9600401 PA1

GENERAL INSTRUCTIONS FOR THE INSTALLATION AND USE OF THE FRL NEW DEAL SYSTEM

1) Install the system as near as possible to the point of use

2) Always use the combination of FIL-REG-LUB in the sequence

3) Always install the FRL with the arrows indicating the direction of air flow

4) Depressurize the FRL system before periodic maintenance

5) For the best resuits we recommend using an FRL which corresponds to
the size of the pipe

6) The standard lubricator must be filled before the system is pressurised

7) The oil recommended for all lubrificators is: ISO and UNI FD 22 (e.g.
ENERGOL HLP 22 “BP" SPINESSO 22 “ESSO"™: PHYDRUS OIL 22 ‘!P"

I{ n rew: i

MOBIL DTE 22 “MOBIL"; TELLUS OIL 22 “SHELL")
8) Do not use cleaning oil, brake fiuid oil nor solvents
3) Maximum working pressure: 1,8 MPa - 18 bar - 261 psi
10) Maximum working temperature a 1 MPa; 10 bar; 145 psi: 50°C 122°F
11) For the best lubrication results, set the drip rate to approximately 1 drop
per 300-600 NL through the adjusting knob.
12) Screw for wall fitting: 1/4 “ 4x40 - 3/8 1/2 . 4x55 - 3/4 1" 7 6x75
13) When reducing reguiated pressure always turn reguiator below required
pressure and adjust up upwards
n

REGOLE GENERALI PER L'INSTALLAZIONE E L'UTILIZZO DEL SISTEMA FRL NEW DEAL

1) Installare i sistema il piu vicino possibile al punto di utilizzo

2) Nel caso di combinazioni rispettare sempre la sequenza FIL-REG-LUB

3) Insenre il sistena FRL nel circuito in modo che I'aria fluisca nella direzione
indicata dalle frecce

4) Spressurizzare il sistema FRL prima di intervenire sullo stesso

5) Evitare a monte dell'FRL I'uso di tubazioni & raccordi sottodimensionati che
diminuiscono |'area di passaggio dell'aria

6) Riempire con olio il lubrificatore prima di mettere il sistema in pressione

7) Usare per il lubrificatore ofi ISO e UNI FD (Es.: ENERGOL HLP 22 “BP": SPI-

i viti pi

NESS022“ESSO"; PHYDRUS OIL 22 *IP", MOBIL DTE 22 “MOBIL"; TELLUS
OIL 22 “SHELL")

8) Non usare: oi detergenti, oli per circutti frenanti ne solventi in generale

9) Pressione massima ammessa: 1,8 MPa - 18 bar - 261 psi

10) Temperatura massima d'utilizzo a 1 MPa; 10 bar; 145 psi: 50°C 122°F

11) Per una corretta lubrficazione impostare la regolazione sul Lubrficatore tra-
mite 'apposita vite, in modo da erogare 1 goccia ogni 300-600 NL.

12) Viti fissaggio a parete: 1/4 . 4x40- 3/8 1/2 2 4x55 - 3/4 17 2 6x75

‘-3 Nel reqolatore Ia oressione deve essere impostata in salita

REGLES GENERALES POUR L'INSTALLATION ET L'UTILISATION SU SYSTEME FRL NEW DEAL

1) Installer le systéme le pius pres possible du point d'utilisation

2) Dans le cas de combinaisons respecter toujours I'ordre FILREG.LUB.
3) Respecter le sens du passage d'arr indique par les fléches

4) Purger le systeme avant d'intervenir sur sefui-ci

“SHELL")

8) Ne pas utiliser d'huile détergente, ni huile pour circuit de freinage ni de solvant
&n general

9) Pression max admissible: 1.8 MPa - 18 bar - 261 psi

10) é maximum d'utifisation a 1 MPa; 10 bar; 145 psi: 50°C 122°F

5) Eviter de monter en amont du FRL des tubes et raccords
qui dimunuent le debit

) Remplir le lubrificateur avant de mettre sous pression le systeme

7) Utiliser de I'huile ISO et UNI FD (ex.: ENERGOL HLP 22 “BP"; SPINESSO 22
ESSO' DHYDRUS oL 22 "P MOBIL DTE 2 MOBIL TELLUS ’VL 2

1) Pourune lubrfication carrecte régler le lubrificateur a raison d'une goutte pour
300 & 600 NL au moven du bouton moleté
12) Vis de fixation sur paroi: 1/4  4x40 - 3/8 1/2 2 4x55 - 3/4 1" 2 6x75
13) Dans le requiateur la pression doit imperativement se regler en montant
a a la taill ard.

BETRIEBSANLEITUNG FUR DEN EINSATZ BZW. VERBRAUCH DES FRL-NEW DEAL SYSTEMS:

1) Die Wartungseinheit soll so nahe als méglich der Gebrauchsstelle installiert
werden

2) Auf den richtigen Zusammenbau der Wartungseinheit ist zu achten: FIL (Filter)
- REG. (Regler) - LUB (Oler)

3) Die DurchfiuBrichtung wird von den Stromungspfellen angezeigt

4) Die Wartungseinheit FRL solite vor Wartung entspannt werden

5) Um eine optimale und wirtschattiiche Leistung zu erzielen, solite die =mge~
setze Grosse der 9 FRL weitgehen mit dem R

7) Als geeignete Olsorten fir alle Oler konne ISO und UNI FD empfohlen werden:
(.8.: ENERGOL HLP 22 “BP", SPINESSO 22 “ESSQ™; PHYDRUS OIL 22 “IP"™;
MOBIL DTE 22 “MOBIL", TELLUS OIL 22 “SHELL")

B) Firdie Reimgung keine Losungsmittel bzw, Bremsflussigkeit usw. verwenden

9) Max. Arbeitsdruck: 1,8 MPa - 18 bar - 261 psi

10) Max. Betriebstemperatur bei 1 MPa; 10 bar; 145 psi: 50°C 122°F
11) Un eine korrekte Schmierung zu erzielen, die Schmiervorrichtung mit ihrer
so einstellen, daB sie alle 300-600 NL einen Tropfen Qel liefert

schnitt Ubereinstimmen
] Dev Standani Oier <LUB) muss im druckloseﬂ Zustand aufaefiillt wevden

12) Wand-Bef estigungsschrauben; 1/4 7 4x40 - 3/8 1/2 7 4x85 - 3/4 1" 2 BxT5
'31 m Req'ev soll der Druck aurwaens ein

REGLAS GENERALS PARA LA INSTALACION Y EMPLEQ DEL SISTEMA FRL NEW DEAL

1) Instalar el sistema lo mas cerca posible del punto de uso

2) En el caso de conjuntos respetar fa secuencia FILTRO + REGULADOR +
LUBRIFICADOR

3) Conectar el grupo FRL en el circuito de modo que el aire fluya en ef sentido
de la flecha

4) Despresurizar el sistema FRL antes de manipular &l mismo

5) Evitar el empleo antes de la unidad FRL de tuberia y racores bajo dimensio-
nados que disminuyan la area de! paso de aire

6) Llenar con aceite &l lubricador antes de someter la unidad a presion

7 Usar oarael lubncadcr =cene|SO VUNIDFD22 rPE ENE”GOLHLP 22 "8P”

SPINESSO0 22 “ESSO"; PHYDRUS OIL 22 IP"; MOBIL DTE 22 “MOBIL"; TEL-
LUS OIL 22 “SHELL")
8) Non usar aceitas detergentes, aceites para circuitos de frenos, ni disolventes
en general
9) Presion maxima admisible: 1,8 MPa - 18 bar - 261 psi
10) Temperatura maxima de servicio y 1 MPa; 10 bar; 145 psi: 50°C 122°F
11) Para una lubnficacion comecta reqular el lubrcador a razon de una gota cada
300 a 600 NL mediante &l tornillo moleteado
12) Tornillos fijacion sobre pared: 1/4 .1 4x40 - 3/8 1/2/2 4x55- 3/4 1" Z 6x75
13) Enel "QU'EUJ la "rﬂsmn ~ebe ser rﬂqlada &n subida







